Reference = ABLIKIM 15I; PR D91 092006
Verifier code = BES3

Normally we send all verifications for one experiment to
one person, usually the spokesperson or data-analysis co-
ordinator, who then distributes them to the appropriate
people. Please tell us if we should send the verifications
for your experiment to someone else.
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Xiao-Rui Lyu

EMAIL: xiaorui@ucas.ac.cn

7/21/20

Dear Colleague,

1) Please check the results of your experiment carefully. They are marked.

(

(2) Please reply within one week.

(3) Please reply even if everything is correct.
(

July 21, 2016

4) IMPORTANT!! Please tell WHICH papers you are verifying. We have lots of requests out.

(5) Feel free to make comments on our treatment of any of the results (not just yours) you see.

Thank you for helping us make the Review accurate and

Sincerely,

Simon Eidelm
BINP, Budker

useful.
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Inst. of Nuclear Physics

Prospekt Lavrent'eva 11
RU-630090 Novosibirsk

Russian Feder.
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simon.eidelman@cern.ch



YOUR DATA
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YOUR PAPER

YOUR DATA

YOUR NOTE

YOUR PAPER

cc MESONS

IG(JPC) _ 0+(0++)

MK~ A=t +cc.) /Niotal

Xc0(1P) BRANCHING RATIOS

— HADRONIC DECAYS —

VALUE (units 10°4)  EVTS

g1/l

DOCUMENT ID TECN  COMMENT

1.9040.344-0.05 57

LABLIKIM 151 reports [M(xco(1P) —

L ABLIKIM 151 BES3 (25) — yK~ A=t + cc.
KTAZT+ cc)/Teorall x [B((2S) —

7Xxc0(1P))] = (1.90£0.30+0.16) x 105 which we divide by our best value B(¢(2S) —
TXco(1P)) = (9.99 £ 0.27) x 1072, Our first error is their experiment's error and our
second error is the systematic error from using our best value.
Xco(1P) REFERENCES
ABLIKIM 151 PR D91 092006 M. Ablikim et al. (BES I Collab.)

See the Review on “y(2S) and x. branching ratios” before the

Xc0(1P) Listings.

IG(JPC) _ 0+(1 ++)

MK=AZ* +cc)/Total

Xc1(1P) BRANCHING RATIOS

— HADRONIC DECAYS —

VALUE (units 10°4)  EVTS

F70/T

DOCUMENT ID TECN  COMMENT

1.384+0.244-0.05 49

LABLIKIM 151 reports [[(x.1(1P) —

L ABLIKIM 151 BES3 (25) — yK~ A=t + cc.
K=AZT+ cc)/Teorall x [B((2S) —

X1 (1P))] = (1.324£0.20+0.12) x 10~ which we divide by our best value B(¢/(25) —

TXxc1(1P)) = (9.55 £ 0.31) x 10~2. Qur first error is their experiment's error and our
second error is the systematic error from using our best value.

ABLIKIM

151 PR D91 092006

See the Review on “y(2S) and x. branching ratios” before the

Xc0(1P) Listings.

Xc1(1P) REFERENCES

M. Ablikim et al. (BES I Collab.)

MK~ A=t +cc.) /Miotal

Xc2(1P) BRANCHING RATIOS

— HADRONIC DECAYS —

VALUE (units 1004 EVTS

Feo/T

DOCUMENT ID TECN  COMMENT

YOUR DATA 1.84+0.33+0.06 51

YOUR NOTE

LABLIKIM 151 reports [F(xeo(1P) —

L ABLIKIM 151 BES3 (2S) —» yK~ A=t 4+ cc.

K=AZT + cc)/Tiotall X [B(¥(2S) —

X c2(1P))] = (1.68£0.26 +0.15) x 107> which we divide by our best value B(y(2S) —

YXe2(1P)) = (9.11 £ 0.31) x 1072, Our first error is their experiment’s error and our
second error is the systematic error from using our best value.
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Xc2(1P) REFERENCES NODE=MO057
YOUR PAPER  ABLIKIM 151 PR D91 092006 M. Ablikim et al. (BES 11l Collab.) REFID=56774
NODE=M071
Y(2S) 16(PC) = 0—1 =)
See the Review on “y(2S) and x. branching ratios” before the NODE=MO0T1
Xc0(1P) Listings.
¥(2S) BRANCHING RATIOS NODE=M071235
—— HADRONIC DECAYS ——— NODE=M071310
- A=+
MK~ A=t +cc)/Total M36/l NODE=M071582
VALUE (units 10~5) EVTS DOCUMENT ID TECN  COMMENT NODE=M071582
YOUR DATA  3.86+0.27+0.32 236 ABLIKIM 151 BES3 ete~ — w(25) — |
K= A=+ cc.
= -=+ A=+
M(=(1690)~" =+ — K~ A=+ +c.c.)/Tiotal M37/T NODE—M071S83
VALUE (units 10~6) EVTS DOCUMENT ID TECN  COMMENT NODE=M071583
YOUR DATA 5.2141.48+0.57 74 ABLIKIM 15 BES3 ete~ — 4(25) — |
K= A=+ cc.
= -=+ A=+
M(=(1820)~ =+ - K~ A=+ +c.c.)/Tiotal M3g/T NODE—M071S84
VALUE (units 10~6) EVTS DOCUMENT ID TECN  COMMENT NODE=M071584
YOUR DATA 12.03+2.94+1.22 136 ABLIKIM 151 BES3 ete — (25) — |
K= A=t + cec.
F(K‘Z°E++c.c.)/|'tota| M3/l NODE=M071585
VALUE (units 10~5) EVTS DOCUMENT ID TECN  COMMENT NODE=M071585
YOUR DATA  3.670.33+0.28 142 ABLIKIM 151 BES3 ete™ — w(25)— |

K™ ZO§++ c.c.

1(2S) REFERENCES NODE=M071

YOUR PAPER ABLIKIM 151 PR D91 092006 M. Ablikim et al. (BES I Collab.) REFID=56774



